
    
                           Recharging of an electric car


     ”Electric cars finally going mainstream?”

You can watch the video at:

http://www.youtube.com/watch?v=Id6MXqhSM80
QUESTIONS

1/Translate the title of this video:”Electric cars finally going mainstream?”

2/ Video comprehension: watching the video, answer the following questions…
a/ What is the price of 1 gallon gasoline mentioned by the presenter? Convert it in €/L (1 US gallon ≈ 3. 8 L)
b/ Calculate the average acceleration of the grey EV presented. Comment the result comparing it to the “Bugatti” acceleration (0-60 mph in 2.46s) and the acceleration of gravity. 
c/ Give the 2 main advantages of electric cars.

d/ What are the 2 reasons why lots of research has been done concerning electric cars?

e/ For Chris Paine, what is the main direct advantage of EV for the consumers we are?


f/ Give the average driving range of an EV.
g/ What is the main drawback of EV? What is the solution to overcome this problem?
3/ create a T-chart to sum-up advantages and disadvantages of EV.
4/ Do you think that EV have a bright future ahead?
1/Translate the title of this video:”Electric cars finally going mainstream?”
“Les voitures électriques vont-elles finir par dominer le marché ?”

2/ Video comprehension: watching the video, answer the following questions…
a/ What is the price of 1 gallon gasoline mentioned by the presenter? Convert it in Euros/L (1 US gallon ≈ 3. 8 L)

The price mentioned is 4 $ for a gallon gas and since 1 $ ≈ 0.7 €, we can deduce that the price is about (4x0.7)/3.8 ≈ 0.74 €/L… It’s of course cheaper than in France where we pay more than 1 €/L!!
PS: Remind that the French’s fuel tax is about 60% of the final price…

b/ What is the average acceleration of the grey EV presented? Comment the result comparing it to the Bugatti acceleration (0-60 mph in 2.46s) and the acceleration of gravity. 
This vehicle “goes from 0 to 60 in about 4 seconds”, and as we are in USA, this speed is expressed in mph! We know that 1 mph = 1.609344 km/h: 60 mph corresponds to ≈ 97 km/h. The average acceleration is then (97/3.6)/4 ≈ 6.7 m/s²!! This corresponds to an acceleration of 0.7g.
The Bugatti Veyron is currently the fastest production street legal car to reach 60 mph from a stop, reaching the speed in 2.46 seconds. Its average acceleration is about (97/3.6)/2.46 ≈ 11 m/s²! This corresponds to an acceleration of 1.12g.

We can conclude that even if the EV presented is not as efficient as the most efficient gasoline vehicle, its performances are very good (most classical cars equipped with a gas engine need about 10 s to reach 60 mph).

c/ What are the 2 main advantages of electric cars?

The 2 main advantages of electric cars are:

· They are cheaper

· They can go farther

d/ What are the 2 reasons why it’s so important to develop researches concerning electric cars?

The 2 reasons why it’s so important to develop researches concerning electric cars are:

· Gas isn’t cheaper anymore

· Climate change is a growing concern

e/ For Chris Paine, what is the main direct advantage of EV for the consumers we are?

The main advantage of EV for the consumers we are is that the price of electricity is lower than the price of gas.

f/ What is the driving range of EV?

Thanks to new efficient batteries, the driving range of EV is up to 100 miles (160 km) on a single charge.

g/ What is the main drawback of EV? What is the solution to overcome this problem?

The main drawback of an EV is its price!! As mentioned, it can cost about 10 thousand $ more than comparable gas cars. To overcome this, the federal government is offering tax credits (as in France).
3/ create a T-chart to sum-up advantages and disadvantages of EV.
	Advantages
	Disadvantages

	Environment friendly: no tailpipe pollutants
	Price: it can cost about 10 thousand $ more than comparable gas cars

	Energy efficiency: electric motors convert 75% of the chemical energy from the batteries to power the wheels while internal combustion engines only convert 20% of the energy stored in gasoline.
	Drive range: about 100-200 miles, compared to gasoline vehicles that can go over 300 miles before refueling

	Noise: electric motors are quiet
	Recharge time: fully recharging the battery pack can take 4 to 8 hours

	Reduce energy dependence
	Battery cost: The large battery packs are expensive and may need to be replaced one or more times.


4/ Do you think that EV have a bright future ahead?
Do electric vehicles have a bright future ahead?

Fossil fuels will run out. If we consider that it’s not possible to estimate precisely when fossil fuels will disappear, within the next 100 years it is widely believed that the cost of finding and extracting new deposits will render them too expensive for everyday use. This is why, in the future close, we have to find an alternative to internal combustion engines.  What are the alternatives? What about hydrogen vehicles or electric vehicles? Hydrogen vehicles need hydrogen and to produce hydrogen, we can use fossil fuels (bad option!) or electrolysis of water. But electrolysis of water requires electricity! That’s why, hydrogen vehicles can be considered as electric vehicles! Concerning classical EV, we have to improve this technology, and in particular batteries (weight, capacity and charging time). If the production of these vehicles increases, their price will decrease proportionally. For the moment, perhaps, the best solution would be to develop hybrid vehicles (both an electric engine and an internal combustion engine), but the price (two engines are required!) has to decrease for the consumers we are.
This is why, for me, thanks to technological progress and mass production, electric vehicles have a bright future ahead.
The electric car











